
PRIME DESIGN, A SAFE FLEET BRAND 
Address: 580 Opperman Drive, Eagan, MN 55123 ▪ Toll Free: 1.8.PRIME.RACK 
Fax: 651-552-1799 ▪ Email: info@primedesign.net ▪ Website: www.primedesign.net



PRIME DESIGN, A SAFE FLEET BRAND ▪ Address: 580 Opperman Drive, Eagan, MN 55123 ▪ Toll Free: 1.8.PRIME.RACK ▪ Fax: 651-552-1799 ▪ Email: info@primedesign.net ▪ Website: www.primedesign.net ▪ TM & © 2022 PRIME DESIGN. 
PROTECTED BY ONE OR MORE OF THE FOLLOWING PATENT NO.’s 6764268, 6971563, 8511525, 8991889, 9102482, 9415726, 9481314, 9506292, 9776476, 9796340, 10470565, 10486608, 10501022, 10578182, 10654420, 10688937, 10836312 AND OTHER PATENTS PENDING

2

M8 HEX HEAD BOLT (x2)

FLAT WASHER (x2)

LOCK WASHER (x2)

M8 CARRIAGE BOLT (x1)

M8 CARRIAGE BOLT (x1)

GUTTERLESS FOOT (x1)

5/16” INTERNAL 
LOCK WASHER (x2)

5/16” FLAT WASHER (x2)

M8 LOCKNUT (x2)

GUTTERLESS POST RIGHT (x1)

GUTTERLESS POST LEFT (x1)

1

M
PK

-8
00

8 
A

SS
EM

B
LY

 I
N

ST
R

U
C

TI
O

N
S–

PA
C

K
A

G
IN

G
 C

O
N

TE
N

TS

1—Mounting Brackets ........................................... (Qty 4)
	

MPK-8008 
Mounting Brackets shown in position on a 
generic cap with customer-supplied Channels 
and Strip Nuts for illustrative purposes only.



PRIME DESIGN, A SAFE FLEET BRAND ▪ Address: 580 Opperman Drive, Eagan, MN 55123 ▪ Toll Free: 1.8.PRIME.RACK ▪ Fax: 651-552-1799 ▪ Email: info@primedesign.net ▪ Website: www.primedesign.net ▪ TM & © 2022 PRIME DESIGN. 
PROTECTED BY ONE OR MORE OF THE FOLLOWING PATENT NO.’s 6764268, 6971563, 8511525, 8991889, 9102482, 9415726, 9481314, 9506292, 9776476, 9796340, 10470565, 10486608, 10501022, 10578182, 10654420, 10688937, 10836312 AND OTHER PATENTS PENDING

3

FrontRear

Bolt
Lock Washer
Flat Washer

Mounting Bracket

Rear

FrontLeft

Right

Rear

FrontLeft

Right

FrontRear

48.00”–96.00”

M
PK

-8
00

8 
A

SS
EM

B
LY

 I
N

ST
R

U
C

TI
O

N
S–

C
R

O
SS

BA
R

 M
O

U
N

TI
N

G
S

MPK-8008 
MOUNTING BRACKETS

2 Set all mountings onto customer-supplied Channels 
as shown. Do not tighten until Step 4

1

Mounting Brackets 
attach to customer-
supplied Strip Nuts

3
Set Crossbar Mounting distances according to specific Ladder 
Rack model requirements. Typical distances are between 4’ to 
8’ in 1’ increments.

4

Torque bolts to 90 in-lb.



USAM-MPK8008-US01 Rev-A 0718


